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mEX7 1% 23
(FHR/>20) A B C D A B C D
N2 - REEZER B oy 7,800 7,360 7,210  7,150F)  6,700F 6,200 6,050 5990
AniE RIEREE S 8,270  7,770M 7,620  7,560F  7,110F 6,610 6,460 6,400 M
N - hEERER [RiEFEaRT 5,560 5,060 4,910 4,80F  4,400F  3,900F  3,750F 3,690 M
ETYO)) b e =1 b 5970  5470F 5320/ 5260F 4,810 4310 4,760F 4,100 F
@ K% - FrEhE (B 8L#HE)
mE Xy 1% 2%
(FR/>27D) A B C D A B C D
—RKRZE B ey 5870F  5450F 5,330F  5280F 5010M  4,590FM 4,460 4,410/
(50kg H72Y)) [REiBEEERIT 6,220  5800M  5680F  5630M 5360M  4,940F 4,810 4,760 F3
TNERARE PR EREE T 5210  4,790F) 4,660 4,610 4,180F  3,760M|  3,640F 3,590 F4
(50kg H7zY)) |[RBiEHEER T 5510  5000F) 4,90FA 4,910 4,480F 4,060M 3,940F 3,890 F4
[F7Zehx PR EREE T 9,220 8,720  8,570F 8,480F  7,650M 7,150 M 7,000 6,920 1
(60kg H7zl)) |[RAiEZEEMR T 9,750 4  9,250F) 9,700/  9,010F 8,180F) 7,680 M 7,530 7,450 1




Q@ XK= (H.760ka)

mEaXa FEFR) 1% 2% 3%
smpmeesmt | 10,360 | 9,670M | 8,990 M
EERE
efmezmt | 10,7708 | 10,0808 | 9,400 [
RMEEEMET 8,310 M
BHENIAKXS
BIEEEM T 8,720 M
@ FI1X (H.745k9)
mBXD (FHk) 1% 2%
g B e I 17,180 9 15, 070 F9
e I 18,010 9 15,900 F3
® 7= (H.760 kg)
+HE /T IR
£S5 1Ry
SEXS (2E) FFu£T ZDMORE
= 5% 54T
RIADLFL
Eepimssm 7,720 Fg 6,980
A1
CE et e 8,140 g 7, 400 F3




